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40° = 40° - & rad = % rad ~ 0.698 rad

72° = 72°- s rad = % rad ~ 1.257 rad
45° = 45° - ¥ rad = § rad = 0.785 rad
765° = 765° - i rad = 17 rad ~ 13.352 rad

36° = 36° - 3355 rad = ¢ rad ~ 0.628 rad
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300° is coterminal with: 300° 4 360° = 660°, 300° 4 720° = 1020°, 300° — 360° = —60°,
300° — 720° = —420°.
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T is coterminal with: +2m =, T HAn =0, F —2r = -3, F —dr = —3F.
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4 is coterminal with: I+2r= + 4 T = —2r=—, -1 —4Ar = -7

Since 430° — 70° = 360°, the angles are coterminal.

Since 1% — 3 = % — 97; the angles are coterminal.

Since 875° — 155° = 720° = 2 x 360°, the angles are coterminal.

Since 733° — 2 - 360° = 13°, the angles 733° and 13° are coterminal.

Since 2223° — 6 - 360° = 63°, the angles 2223° and 63° are coterminal.
Since —800° + 3 - 360° = 280°, the angles —800° and 280° are coterminal.

Lr _ 9m = 2, the angles 27 and 2" are coterminal.

Since ="

Since 871 — 43 - 27 = m, the angles 877 and 7 are coterminal.
Since T — 2. 21 = I, the angles XI” and 7 are coterminal.

Using the formula s = 6r, the length of the arc is s = (220 180) 5= 5%7' ~ 19.2.
Solving for r we have r = g, so the radius of the circle is 7 = % =4.

Using the formula s = 0r, the length of the arc is s = 2 - 2 = 4 mi.

Solving for § we have = g , s0 the measure of the central angle is § = 100 = 2 rad. Converting to

r
degrees we have § = 2 - 8 ~ 114.6°



